% 3 4 [leE/ AR R AR =

WH:Fk3044F7H1HE) 3 Bk LS
1 247 347 A A 617 747 8T
64EHT100m WIE BEE 13.26 BTt AR 13.63 |*F)Il Fik 13.79 |iHH  #Eth 13.82 |EA WA 14.23 |'BA @Bk 14.31 |5l #tt 14.46 |AE && 14.57
Riwrfifi F#es (1.7 |Rikifipe B#E (-1.7) |H#JAC (CL.7) | BEES VAR 1.7 [FAV—FFy X (1.7 | Rkl E#E (CL.7)  |ZEope B (1.7 |Rimifipe B#E =1.7)
6441 100m M BEEH 14.08 [l Ze>Fx 14.29 |G Hil 14.55 |#h4y  #BAE 14.95 /N A&l 15.10 [T % 15.20 |SF[E fE% 15.35 [ILA 16Fn 15. 49
T B AR—YDAERH  (-4.0) UL EAR—YAAER  (-4.0) |[ObZRUNNERSZ 57 (-4.0) |V RIvpelbr 57 (-4.0) [ ZRUNNERSZ I (-4.0) |#gipe - (-4.0) |k oy Z 7 (-4.0) [ KEFEAX—RAF—V/DPHER (-4.0)
548 F100m DL SN 14.64 |BHEE KHH 14.69 |ATH HE 14.85 |MAA  KHf 15.02 |deAd  pif& 15.12 |2 BEth 15.17 |SEM MK 15.27 |f@7k ZEHS 15.63
RS =Pk b (-1.0) |LAKESAHt (-1.0) |Eyerfifi B (-1.0) |H#JAC (-1.0) |{0"bZRUNNERSZ 57 (-1.0) [BSC (=1.0) |HI#EJAC (-1.0) |Eumidipe b= (-1.0)
54E4F100m A R 14.80 |44 ExZs 14.90 |HJ)Il ¥k 15.54 |/hy ¥Ex 15.67 |#R  Fiz 15.68 |E M HirE 15.69 [N 38 15.75 &7 #E 15. 80
S.P. kimura =34 (=2.3) [HiHJAC (-2.3) [Pk oy Z 7 (=2.3) BN (-2.3) [WHOZRUNNERSZI7 (-2.3) {777 (-2.3) |Rumrifie L#EE (-2.3) [19F—X (=2.3)
4EHT100m F=1 PN 15.15 |HA & 15.42 |&H BEF 15.81 |&ZiE 16 16.12 (=& M 16.37 |EA HEK 16.42 |BkdR  HET 16.49 |F&fi 32X 16. 60
UHIRUNNERSZFT (+0.4) |wq4  RILREZST (+0.4) |Ryiipe R (+0.4) | H#E JAC (+0.4) |[0WbZRUNNERSZZ7 (+0.4) |FHJAC (+0.4) |17 F—X (0.4 |bFLHplrZ7 (+0.4)
441 100m TN 16.39 [ILA A 16.90 |FHKE  HF] 16.93 |7kl B 17.01 |#EME FA 17.06 [/hSF B 17,11 | E)I A 17.28 |EEA  Jnfp 17.38
i JAC (-2.6) |LAKESHI% (=2.6) |ZEHpE LHE (-2.6) | Ly 77 (-2.6) |{WbZRUNNERSZF7 (-2.6) |{{fEpEtr 57 (2.6) |V 4RI pElLr77 (2.6) |[WbZRUNNERSZ57 (-2.6)
64578 0mH AE A 13.71 |RE B 13.76 |#f L K 14.26 |3 FHize 14.45 |FgiE  #CE 15.54 |WBHH A 16.31 |HES K 16.47 |2 Fib 16. 47
FR JAC (-1.0) |ZEFpe FAE (=2.6) |ZEHpE LHE (-1.2) [H#JAC (-1.2) [H#JAC (-1.7) |HEHETAC (=1.2) |SPilipE B (-1.7) |HF#EJAC (=2.6)
64478 0mH WA 15.02 |EiE fB1E 15.31 /&M HiE 15.47 A1 MR 15.55 |WEE Bl 15.58 |@ma KH 15.61 @ iR 15.82 (O »HAT 15.93
i JAC (=0.1) |ZEFpe FAEE (<0.1) |[{0WbZRUNNERSZF7 (-0.7) |ZEdpE F#HEE (=1.3) |<Filipe B#E (-1.3) [FAV—}FFoX (0.8) [FAU—=]FFvX (-1.3) |H#TAC (=0.1)
54EH T8 0mH sk AR 17.10 [WEH MRA 17.25 |fgiE T4 18.15 | (& 18.24 /NIl #& 18.41 |[KH #F 19.29 |3BIr ¥ 20.99 |0 EK 21.26
FR JAC (0.3) |4 KT vpmbro7 (-0.3) [H#JAC (-0.3) |H#JAC (=3.8) |HI#JAC (-1.6) |ZEHpE FHE (-0.3) |SFlipE B (-1.6) |Emifipe %= (=3.8)
54478 OmH T ZsxdE 17.48 AR BEH 18.26 NI ME 18.57 /NIl HIA 20.74 |RBC RAEE 22.67
FR JAC (-1.6) |FHpE EHEE (=3.1) |5Filipe B (=3.1) |LAKESHI®E (3.1 |4 R Ly 5T (-1.6)
6 FEF T EEkO) Firp B 1.35  |du)il ik .35 |@M EL 1.25 |1 B .20 JFA HEK 1.20 | bk HEE L15 /R K 1.15 |fEAd st 1.10
Fripe b Fiifipe EHE OWHZRUNNERSZ I F JAC SELLpE bR F JAC TR e R R/
6 A7 EEkO R EE 1.25 |ERE FER .20 |RAH B 1.20 EH JhE 1.20 up EE 1.20 |HF Hik .20  |/hEpsE Bk 1.20 |/8% MF 1. 10
Fripe b Fiifipe EHE SELLpE bR OHIRUNNERSZ 57 i JAC SEILPE bR i JAC TEHE R
5B T4 EPEO et it 1.05 |@E8 Bk 1.05
LAKES 14 HEEEA Y — RF— A
547 0 EPkO Hi Rt .10 |8 4 L1 |sr B 1.05
SELLE R UHZRUNNERSZ 57 TR
6 45 78 0 iEBk o [N 4.50 |FHFED EHE 4.41  |H#EL EE 4.37 | HA 4.32 |HL =g 4.08 |WER & 4.08 |FiE MR 4.05 &M piE 3.90
TR b (0.8) |4 KIvpEbrFT (-1.0) [TEAMMASUYAMA (-1.5) [ZZMPEJAC (-0.8) |{EHpELy Z77 (-1.3) |EHpELy Z7 (-1.4) [CHZRUNNERSZI7 (-1.6) |HEE/NEEE (+0.7)
6 T D IEBEOY PR HE 4.22  |fFE Eo% 4.00 |JIE wWE 3.82  |db B 3.81 |fE@m #EXH 3.71 |kl = 3.65 B Rk 3.64 |KHE —fE 3.54
SELLE R (0.7 |[®WbZRUNNERSZJ7 (+0.9) [FZERFJAC (-0.6) &ALy Z7 (-2.4) |ZEdifiE s (=0.3) |[FAV—=FF v X (=2.3) [WbZRUNNERSZ57 (-1.1) [(%ZRUNNERSZ57 (=0.3)
SRS 1 D iEEk O [ 3.82 (M HKER 3.76  |[®RME R 3.63 |#pth b 3.44  [BBR R 3.40 |l 3.35 |MEJR EhK 3.33 MR A&KE 3.32
FOTILRE  AR—YAMER (-2.4) |0 ZRUNNERSZ 57 (=3.9) |FEdie e (=3.0) |F#HJIAC (-0.9) | KEEAF—AR—V/DHEMN  (-1.6) |FiEifipe %= (=1.3) |KF/INER (=2.4) |FEHETAC (-1.9)
54 v iEBE O HE WA 3.59 /N BT 3.43  |[HEE —1E 3.36 R AL 3.16  |hR X 3.12 |k AEE 3.10  |fAHE s 3.09 |HA A 3.01
KR TAC (+0.7) |Rimidipe b (+0.5) |4 R Pl 57 (-1.8) |BOFJTHE EAR—YDER  (1.0) |V4 v RIVEREY T (+0.2) |Emiipe b= (=0.1) |Splipt B (+1.3) |EiEifipe b (+0.6)
4FEF 0 IEREO P OB 3.35 Bl HEK 3.31  |HF ik 3.21  |HE BOKER .11 |4 HiK 3.07  [fRA Hak 3.00 |HAR B 2.91 |EfE B 2.87
R JAC (-1.8) |H#JAC (-1.5) |HF#JAC (=3.1) |LAKESACHE (-1.6) |LAKESAHE (-2.8) |Zt+ )\l -7 57 (-0.5) |ZE e F#EE (-1.9) | &4+ )\iEME s 57 (-1.5)
4 A7 0 EREODY Wi flien 2.91 |AHE 2.87 |BHE Bk 2.84 | Kk 2.75 At A 2.74 |HH BEHR 2.70 |SFAR FL 2.57 |fExR #EIN 2. 40
R e (=0.9) |FEHpE L& (+1.7) [SFilpe % (+0.2) [P s Z 7 (+1.0) [SFilifie % (-1.1) [EEHEETAC (+0.4) |LAKESHt (=0.4) [LAKES et (=0.5)
BAERF Vv Y vy R— 4T | TER 44.84 |9% EE 41.26 | KE B¥ 40.17 |EF EA 39.97 | W 39.16 |F3E Bt 35.89 |HME KE 35.80 |(HEE BE 35. 03
Bty 57 LAKES Fi & ZrN\EbE LY 77 ik EHE e ey Z 7 SELLRE |- F i b TAY—hFo X
6AELTF VAR VAR — T [hHE BR 44,38 |fadE Mg 37.94 |k AL 37.33 |H WRE 33.22 |AR Y 33.19 [ LAk mesk 32.44 |BEME BT 26. 30
HEEE/ N2 A LAKES K SplifE e R il b L \EbE s 7 Sl e Rififife FEEE
SHEBTFI¥NY v 7 R—AT | FH IESE 39.87 | KK FERE 37.15 |EH At 35.28 |ffE 34.83 | Ki® % 31.24 |fE KR 27.55 | K5 F5WE 26.66 |BLH EA 26.53
B JAC Fikribe F#EE TR Fikribe F#EE HOITLRE B A R— Y A 4EF WP e bR HHLJAC TR
SELFT ¥R v 7 R— VT
WF4xXx100mV L— Fireile ks 52.33 |BEHFE E#HEA 54.02 |HI%4JACA 54.88 |0 ZRUNNERSZ”S57A 55.85 |FZJACB 56.81 |ZEHilE F#=E B 57.25 |0MbZRUNNERSZ 7B 57.71 [{WlEfELYF7A 57.96
AR =R PR A=) B ®E BE wa wE A 25 7 - B D
2|Ffst e Ml K AHE AN SR N FH K& BER EA BRI JUAHR A hig
3| Tl EK R RIEA il BESK BURS — Bz BE R} T fnE IIEAS
4|knfE BEE [N SN FFik il B A R Sl At B e ot 3
ZTF4X100mY L— HORITRE L AR—Y/DEM A 55.75 |[0bZRUNNERSZ77A 55.85 |ZEHkE L#HEA 56.96 |l LA 57.84 |EEEJACA 58.29 |7 AU —hFv X 58.60 |~FILIkE LA 59.26 | FIZJACA 59. 38
LA HhfE AN ) RKF W% R R e EEE ety =% TR EHE & Z=mx
2|l 72D P So%x SR P W SOR AR BxE FX Wi IR a1 TR Y%
3| HEH  ZAK St Ak EH R e EE N BT A KH PEH Bl i g
4| BEEA] Pt iRt e Fof A Z=I6 Hf EW e K P




